Amana FE0630 03 - CONTROL PANEL, CONTROL HOOD AND CONTROLS

Zls oW s

Y

20

e e e e

6

Amana Residential Amana FE0630 Washer Parts Parts Diagram 03 - CONTROL PANEL, CONTROL HOOD AND

© 0 N O O b~ W N -

= a a
N =~ O

13

14
15

22244
22245
24205
25124
25126
55787
91176
52623
25232
53768
52047
52610

25123

24522
53446W

CONTROLS

Click on the part number to view part

5303284616

Not Available
Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

CLIP,C xREPLACE
XxREPLACE

Nut, Knurled 3/8-24
CONTROL HOOD END, LEFT
Clip

CONTROL PANEL
Lockwasher, 3/8 Intshkp
Switch
SCREW,8AB-18X7/8 OVAL
Assembly- Switch

Nut, Hex 15/32-32

TIMER

CONTROL HOOD END,
RIGHT

Nut, Speed-8ab-18 C1995
CONTROL HOOD, WHITE


http://www.pwslaundry.com/c-502019-residential-amana-fe0630-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10394112-amana-24205-washer-dryer-nut-knurled-3-8-24.html
http://www.pwslaundry.com/i-10396664-amana-5303284616-washer-dryer-clip.html
http://www.pwslaundry.com/i-10394109-amana-91176-washer-dryer-lockwasher-3-8-intshkp.html
http://www.pwslaundry.com/i-10396746-amana-58032-washer-dryer-switch.html
http://www.pwslaundry.com/i-10396307-amana-55882p-washer-dryer-assembly-switch.html
http://www.pwslaundry.com/i-10394132-amana-52947-washer-dryer-nut-hex-15-32-32.html
http://www.pwslaundry.com/i-10394002-amana-24522-washer-dryer-nut-speed-8ab-18-c1995.html

16

17
18
19
20
21
22
23
24
25

53446H

53446A

23028

23962 W10116760

Y00000000
23425
52912
24290
20310
24283
70212
24859

Not Available

Not Available

Not Available

Not Available
Not Available
Not Available
Not Available
Not Available

Not Available

CONTROL HOOD, HARVEST
GOLD

CONTROL HOOD, AVOCADO

GASKET,CONTROL BOX
END

Screw

SEE NOTE CABINET TOP
WASHER,7/321DX7/160DX.
PANEL SUPPORT BRACKET
ASSY,KNOB-TIMER
SCREW,8-32 X 1/4 HEX S
Indicator, Timer Knob

Screw, 8-32 X 5/32 RD H
SLEEVE,SUPPORT ANGLE


http://www.pwslaundry.com/i-10396475-amana-w10116760-washer-dryer-screw.html
http://www.pwslaundry.com/i-10394123-amana-24283-washer-dryer-indicator-timer-knob.html
http://www.pwslaundry.com/i-10394004-amana-70212-washer-dryer-screw-8-32-x-5-32-rd-h.html

	Amana FE0630 03 - CONTROL PANEL, CONTROL HOOD AND CONTROLS

